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TE 09(Motor Vehicle Mechanic): Series — A

Q. . .
No. Question Answer Options
a% F g & RAffag Fud @ PR wer A..9.81m/522
. a9 3EF waer g 2' ;0 E;ﬁiz
' When a bali is dropped from a certain height D. 1 m/s?
its acceleration will be equal to )
Teh FATH JET W @S, 1000 fra, goer & | A. 250 B Kg
R &F 4 TR W 5t 9ffear 99 & For | B. 1000 far, /Kg
9. aeT § C. 500 Frat /Kg
Sum total of vertical Reaction Forces at 4| D, 10 fFan. /Kg
tyres of a car standing on flat road weighing
1000 kg is
TRREFT & fFT It 9T, TRk Sedt & aur| A. & 8T § /Reduces
9T gar ¥ B. s=ar & /Increases
3. At lower gears of the gearbox, Torque | C. scend @€l / Remains same
increases and speed D. 2t g w8 &
The two are not related
T & TN FT AU FEd FAT F W & | A el /Caster
T T FEd 81 B. TR [Steering angle
4. Angle between steering axis and the vertical | C. @Y 2= /Toe in
axis of the wheel is called D. 2 315¢ /Toe out
U T & a5 A GeFAE & I A, TEERRNUT g Havacceleration due to
HART g B gravity |
3. Ratjo of weight to mass of an object equals B. \YETAT /density
' C. 1
D. fafafése g /Specific weight
NG TR F g THE, Feai@d | A Reawnie ¥ #iareinforcement
T 39T ohaT ST § steel chords ’
6 In making automobile Tires , following is | B. &% /Rubber
' used C. sgala Nylon
D. 39ed @l gt
All the above materials
U G I 38T A# @ T AN @ R oo | A s ed wwer
3 38EF gy @y Hﬁmﬁﬁ frar & a vertical straight line
. T ¥ B. W&ok /parabolic
A parcel is dropped from a flying aero plane. | C. et /circular
D. o7 ST jzig zag

Its path can be approximated as
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TE 09(Motor Vehicle Mechanic): Series — A

No. Question Answer Options
Remait® 3T tan(45) T #&T © A 172
8. Value of trigonometric ratio tan (45) equals 2 ?
D. 1/4
1000 fr.317. aAaTel Uk &R S 17 /AHs #7 | A, 10001 /1000Joules
A W EF AdS FaAl § B. 500siter /500Joules.
9. Kinetic energy of car mass of 1000 kg | ¢ 15ter /1Joule
moving at 1 m/sec s D. Wiy T & 1000 Rrar, Mexl000 kg m
per sec ' ' _
mmﬁwﬁﬁa’rwsiﬁ%mm A. FET A F WX THFES dF Fef T
gl power transfer from main shaft to rear
A differential assembly in a motor vehicle axle
allows B. &Y dUT RN =k & Affed rpm &
A &ar &1
10 allows different rpm of left and right
’ wheels _
C. S/ TUT &1 T K FH 1pm B gl
&ar B |
allows equal rpm of left and right wheels
D. 3Ed |l & g &ar ¢
allows all of the above
aﬁwuﬁmaﬁ—aﬁaﬂaﬁmm% A. 3EF =T 3T BT &
ar e vE8E & 3R its diameter increases
If a metallic Bolt is pulled in tension then | B. 36& <OT® FH g1 &
1 according fo Poisson effect its Diameter decreases
' C. =ard # #15 YNadeT At
no change in diameter
D. $& FaMET F¢l S Hehcl
unpredictable
5@ T 0.5 Y warg & aaa 60 f3l wwr | Aow
¥ el g ¥, s Aw e w0 2T
12, gl ¥ geareR H o 8 D. /6

When a 0.5 meter long wiper sweeps an
angle of 60 degrees The tip moves circularly
by adistance of ...... meter
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TE 09(Motor Vehicle Mechanic): Series —A

No Question Answer Options
4-35F 51 H HIA AFT AT, FEAFT é'dT A. GIET fdouble
& B. zmem /Half
13. In a 4 —stroke IC engine cam shaft speed is | C. Tey &t a;rﬁi‘[aT
...... the crankshaft speed can be any multiple
D. §AE fequal
e 3T A AR & o @ oot | A Freer S e
gl Low fuel efficiency
A high Carbon Monoxide content in the | B. Rwerg vadlce
14. exhaust means Toxic exhaust
C. 3T g5
Incomplete combustion
D. 39%Fa Tl / all of the above
vFHEC gUmElr A oOWAr ST U Sod A. TFEIEE & CO & FF T &
EIRCRED ‘ - | reduces CO content of exhaust
A catalytic converter fitted to exhaust system | B. &R Eﬁr HH F §
15 reduces noise
) C. 3U &TAAT T FURAT §improves fuel
efficiency
D. 3WiFT H S 7
_ none of the above
[CEST I T4 MeiTehr &l A. 1 ITH @8 IFHR
Connecting rod of an IC engine has I or H section shape
16. B. Z@Us /Z section
C. 3IdarFrR frectangular
D. gcameeX /eircular
UF s 95d Red fiw #F giEar 05] A 25N
Neiehes &1 o s s smam g ar| B SN
17. Fsiar 3 e g1 D. =T /Zero
A brake pedal return spring has a stiffness of
0.5 N/millimeter. If the pedal press is 5 mm
then the force in the spring will be
faega gadrr aca & H g frar | AL IC g9 % TeRel #
ST § starter of IC engine
3 Principle of electro magnetism is employed | B. ¥HNET /thermostat
' in ‘ C. %o /muffler
D. 36R% IRads

catalytic converter
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TE 09(Motor Vehicle Mechanic): Series — A

No. Question Answer Options
wEle & Seg oaw & B 7 fTae | A 0.112,0.017
: : B. 0.118,0.020
A9 T 3 ) ' ’
3ER ST §1 HEhRed ddr e C 0110, 0.015
GO D. 0.119,0.020
External diameters of a pin are measured as
shown in Figure. The ovality and Taper are
...... (respectively)
19. A 2
B1
=100.008
B2 =100.100
B3 =
A 4 h 4 100.118
Al=100.116  A2=100.101  A3=100.115
85«1 # BHP & g &fa fpar oar | A, @1% 3T /Torque wrench
gl B. =AY /Dynamometer
20. BHP of an engine is measured by C. ermAET /Tachometer
D. 3E#ARET /Odometer
Rieest t5@ & fow fea@n 8 A. arg wE AT H e axE ey
Piston heads are dome shaped HAeg e
A To help proper mixing of air fuel
mixture :
21. B. 39 T T el
Ease of manufacturing
C. ot /Balancing
D. wiwAT &, A o
to increase crankshaft speed.
éﬂ# # Fofiater g Srar & A. Ti& ot /Spark plug
Fuel is atomized in B. TardRex /Evaporator
22. C. #FeR Muffler
D. gaieeX / Injector
dfve sy duw @ ey _ | A 005
: Shaft Dia is 50 + 0.050/+0.035 and Hole | p ggos

diameter is 50 +0.050/40.045.
The maximum clearance is

Page 5 of 14




TE 09(Motor Vehicle Mechanic): Series — A

No. Question Answer Options
TR Y, Eer F #ftefas grar g A. TeIEY Jelastic
Tyre Rubber is much'more ....than Steel B. w7 /ductile
24. | C. 3TETdaey /malleable
D. 3f@% gaar fstronger
aere qeT A urg & AT s ufEe o e | A afRe 5 T & g
a=sT Fefed fRar star & d9 dftes Slope of the initial straight line
AT & A & B. 3ifaw afker widser
25 When stress is plotted versus strain for a metal Final breaking stress
in tension test, Elastic modulus equals the C. 3ffaer sifsher aw
Final breaking strain :
D. sfder widasr & et & 3
Ratio of breaking stress to strain
o (REa Hz) & &9 & IHT § A. 3mgfeq /Frequency
Hertz ( symbol Hz) is unit for measuring B. a7 /Speed
26. C. 3T /Acceleration .
D. #ge /Retardation
T oA 7 AveH & N I WG F@ | A, I F SR A BRT ST wewar
& fow Gears can be not used
To transmit power between shafts in the same | B. 9oe & il @I 3uter frar ST Taam &
direction Belt & puHey can be used
27. C. T The HT IIAT FRIAT STRIRAT §
Chain sprocket can be used
D. 3w @ #Er g
All of the above are correct statements.
_ o
IC g5 #, Tovest &1 aiawer I e o | A Tovest &1 yeherar sitae g9
F gaEa T ‘ Average force pushing the Piston
Area of piston multiplied by mean pressure in | B. 38 fawe /Avearge stress
28. an IC engine equals : C. 3ed 2% /Average torque
D. #ieTheT¥e HIRpm
Rpm of crankshaft
e & FROT decs @Y F REEF F Qo | A, ST a2r /Spring washer
gd_ anri @ yAer fhar e g B. A% 9l /standard washer
29, To prevent loosening in a bolted joint due to | C. e ITapered
vibration......... washers are used D.

T /Thick
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TE 09(Motor Vehicle Mechanic): Series —A

For a single cylinder engine swept volume=80
cc and clearance volume =10 cc. Then its
compression ratio is

No. Question Answer Options
YT e Ford H I 3YAET TRar Srar | AL FRR A IR ded
& Constant mesh gear box
Friction cone clutch is used in B. fdsr@er /Synchromesh
30. C. EA-AE" TS Siaq
In-line sliding gear box
D. 3WIFd H S ¢
None of the above
VVT _ = guer & fow 9few fsar| A. Bhp
T ¥ B. el & UEeied HKm
VVT is introduced to improve Km per liter of fuel
31. C. 3cHo HH FAT §
~ reduce emissions
D. 3RrEFd @ /all of the above
fafdist o &1 & &= a4 g A. HieT AT AT IgATER Faurg
Cylinder head is made of Cast Iron or Aluminum Alloy
32, B. deT /copper
C. dider /Brass
D. H@r /Bronze
oo e B W ST T E A. 3T Al e g O sgfafaas
Connecting rod is made of High grade Alloy Steel or Aluminum
B. Hefad giar /Cast iron
33. 2
C. #18 /Bronze
D. @gdT MNylon
o9 ww g F e B OFHEEAT ST § HEA | A, TERAT A HHIAA G gl
FATA AT AST (deEy) Does not stretch or contract
When a sheet of metal is bent, the middle | B. ®Ed &ar /Contracts
34, .
plane or line (neutral) C. 9aRar /Stretches
D. $& #g AT S HehdiUnpredictable
T TS g9 & for wave 3e@=80 cc | A. 80+90
qr Fewt swER-10 co sEk wds | D 08
45 | T D. 90+ 10
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TE 09(Motor Vehicle Mechanic): Series — A

No Question Answer Options
ICSS1e # ool aTed & TS, foaid ared & | A. ©%T /Smaller
AT B. &37 /Bigger
36 In an IC engine Size of an inlet wvalve| (. a8 /ldentical
' 1S.e.inee compared to exhaust valve D. IRIFT § 7 7
None of the above
ICse= & fafelEY g5 =t & fav g | A FSAr 3RO T 8 dew
ITerst fohar =T Increasing heat transfer surface area
Cylinder head of an IC engine is provided | B. 3cUicel I 3TEIA Fallet
37 with fins for ease of manufacturing
' C. e /fashion
D. 39dsT gkl
increasing volume
MR 2’ & T & T HF W wt w0 go| Aoa 2
wH ged F RHor afy R o @ ger | O &
. - C. 2a
33, | BewE D. a
A circle is drawn touching four comers of a
square of side ‘2a’, then the radius of the
circle is
Frerfaf@a e a1 1000 RFam. & ue | A 200kg
#ogT W AT g A RS ¥ oaw w 2‘283811?
gEgion fowe & fawe frar o & R D..S_kg £
&7 Al =A TUT A2=5A | e R@d &
3ETER, FX &l WUR o & fav sk e
T 3TGF T §
Refer sketch below. A car of weight 1000 kg
is lifted in a hydraulic lift with two cylinders
filled with a fluid. The piston areas are Al =A
39, and A2=5A. By Pascal’s law, the force
required at the smaller piston to support the |
car is o
Weight = 1000 kg
Area A2=35A
Area
Al=A e I I
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TE 09(Motor Vehicle Mechanic): Series — A

' No. | Question Answer Options

gifder Rfsar & A. &M [Cutting
Honing is a process of | B. &g /Welding

40. C. fafestar Milling

D. SR f6fARET /Bore finishing

U Fod A Edeeh WS gwr Wwed & | A sferae e /Gudgeon pin
d/_ w7 39t fear Srar 8 B. {91 = /king pin

41. In an .engine; ......... is used between | C. @i R /Crank pin
Connecting rod and Piston. D, @e R Normal pin
LAMBDA @dg, MPFI womelr & & A.NOx
T e ¥ B

42. | LAMBDA sensor defects...... in MPFI g'. Ié%“’l
system.
g gia=edr &3 # s & v 3uaier fr g | A, @|i¥® @ /Universal joint
e g B. s & /Knuckle joint

43. To connecttwo intersecting shafts the Joint | C. e3-7r3 @Y /Tie -rod joint
used is....... D. sier @ /Ball Joint
y=x? & HHiHWr§ A. ged /Circle
y =x% is equation of B. e 1@ /Straight line

44, C. ®rarenm /Parabola -

D. &Eigearsi /Ellipse

FX W AT T NS F qr S § A ww & A TF @ fis same
o oX el W aE & qof A% &, o 9o | B [T § I Ser gl
Coletic o O C pull is smaller than push
The effect of force, F, on a car when you push | €. & T qer BT grem

45 from tfack or p1-111 from front at points on a push is sma‘ller than pull .

. same line (see Figure) D. & &l #@gi Hehd Unpredictable
PUSH, PULL, F
— s e ¢ —  ———
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I\% Question * Answer Options
HO I R oy wwae & s & | A Xyt =1
giawda & THeT ?;' X;Y
46. Equation to intersection of a cylinder with a D‘ Ve 3
. \ T . . Y=x
plane perpendicular to its longitudinal axis is
BAR U good & IR F AT gl A. 39 eFE W 4 T
Ratio of Area to Circumference of a circle is 4 times its Diameter
: B.w®
47. C. =g & U= 9 oyar
one fourth of Diameter
D. =g /Diameter
85 O To¥ ¥ HR UGN WESF & MR | A. $erees /Parabolic
HAHIT: & B. ga&R /square
48. Shape of reflectors around head lamp bulb is | C. SR /eylindrical
generally E D. 2@ /conical
ABS #F & fU__ & HIOA T AERTFAT ] A, T 40 [Wheel rotation
gl B. &% (Torque
49. ABS function requires measurement of C. amART /Temperature
D. #&¥ /Camber
A gaflw, ae & T #h @ a7 Feg ¥ | A H
Ay # T F 3edEd FRT B. Vv :
For the shaft shown which force produces CV ‘qt H ai#r./boév and H
torque about the centel . 'D. gt #fr 78T /Neither
' V, Vertical
50.
H, Horizontal

force
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TE 09(Motor Vehicle Mechanic): Series — A

No Question Answer Options
MNa & RaE e o R 7 S &7 | A % dec, diex oo, 3igd o, R
MeEEfes & fow wer afks dw B VR, Foad [Eadet, s
The correct checking sequence for Fan belt, water leak, oil leak, tire
overheating of an engine in a car when pressure, clutch slippage, brakes
. reported to garage is B. goiar & Rufq, g aoran, dew
ey, Y diaw Mt
51 Engine condition, coolant quality, self
' starter, gear box oil
C. 39T I FoUAT V2R, T Fir Byfa,
Compression pressure of the engine, tire
condition, fuel quality, suspension,
D. e dee, diex o, 3d, geamafdy
Fan belt, water leak, battery, Alternator.
G R cm ¥ & W S v qE | A 2emr? 360
T w@ A ¥ g B F g & | o 2 A7 360
_— _ h C. emr</360
59 FRUT Wehes W & G5 86T § - D. e nrl
There are two wipers of length R cm whichdo | -
not overlap. The total surface area on the
windshield due to rotation of Theta degrees is
SIeT Ferd & FudierfRar ST g A. e TR Sad
Dog clutch is used in : Constant mesh gear box
5 B. f&##A /Synchromesh
’ C. 3fal™ /MDifferential
D. 3RS # Fig 76T
- . None of the above.
I9RETHT &9 @ ¥ g8 # gar & A. 39 "@5we MDiesel cycle
Combustion  occurs at constant pressure | B. 3l ®gser /Otto cycle
heoeeees ' C. 7 of fsa=iaes Ao
54. .
- Any thermodynamic cycle
D. 3RIed & @5 dgr
None of the above.
(HFdl o @AY 3T & §1Y) BHPE A. 2uNT/4500
(With usual notation of symbols) BHP equals B. aNT /4500
55 C. 2uN/4500
' D. 2xT/4500
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TE 09(Motor Vehicle Mechanic): Series — A

1\% Question Answer Options
(F¥at & e 3 & @) THPE A. PoLAN K /4500
(With usual notation of symbols) IHP equals B. LAN'K /4500~
5. C. Pn LN K. /4500
D. PnLA X /4500
0.001 = 0.00001 & Renford &= @ A. 1600000
' B. 1 -
¢ C. 100 -
57. 0.001 divided by 0.00001 equals...... D. 10
T A ax?+bx+c=0
X 2a | B. ax?® + b? = ¢?
— C. a®+b? = xc?*
58, X = :‘E’i—;i:ff—c are the two teal roots of | D. a® + xb? = xc?
T TeY AT qUe F @HT W | A. R&AT o€ frear left
EICINg B. Wc @%T /front left
59. The stepne.y tyre gencrall_y goes to the place | C. W Tsc /front right _
of...... during rotation D. TR TBE e /rear right tyre
Fod [Tausr 9 Fod FRIERT § 99 Fag| A, witen go
feedsr, Ry &9 ¥ g5 & At starting engine
Clutch slippage while clutch is engaged is| B. o1& A 9 w99 B I /
60.. particularly noticeable When accelerator pedal is pressed
’ C. sfdFer & &uaT ’
During braking
D. & 397 # /At low speed
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TE 09(Motor Vehicle Mechanic): Series — B

Question

Answer Options

T aE] # dold F goude & Heparer

AT far gl

A. TEcaredur §q Haeaceeleration due to
gravity

tyres of a car standing on flat road weighing
1000 kg is

Ratio of weight to mass of an object equals B. Wuerdr /density
C 1
D. Rafafése aormT /Specific weight
2. HCHAEIGT TRA F dlrd Ay, Peeafad | A, Reawidde & sdareinforcement
F YT R ST & steel chords
In making automobile Tires , following is | B. T§15 /Rubber
used C. s /Nylon
D. 39 GHT TART
, All the above materials
3.0 u urder W 3ee H W@ ¢ RAn & By onar | AL sed e
T 3TF Uy oW 34@73@*5( T S a vertical straight line
g B. qu&ifas /parabolic
A parcel is dropped from a flying aero plane. | C. gedm{ feircular
Its path can be approximated as D. [T ST /zigzag
4. RIAWRE W tan(4s) T HeAT § A 172
Value of trigonometric ratio tan (45) equals g : (1)
D. 1/4
3.1 1000 T, aoftaral s ww o 18/@ss 3 | A, 10005t /1000Toules
g T & & fas Fat & B. 5003ifer /5007oules.
Kinetic energy of car mass of 1000 kg| ¢ 1siter /1Joule
moving at 1 m/sec is D. wiar @&z & 1000 fFar. #1000 kg m
per sec
6. o v @i ) ARad Fod @ P S ¥ A.9.81m/sz2
T I T g ol mes,
When a ball is dropped from a certain height D. 1 m/s?
its acceleration will be equal to '
7. um wHdd WA W @S, 1000 fRam aoer & | AL 250 fRa Kg
FT 4 T W W@ FET 9 99 & g | B, 1000 R /Ke
awr & C. 500 Rl /Keg
Sum total of vertical Reaction Forces at 4! D. 10 f&ai, /Kg
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T(\QI‘O. Question Answer Options
8.| druwEiFE ¥ O Rt W, oF dear & | A, FA giar & /Reduces
T Bﬁ?lT & B. sedr g /Increases
At lower gears of the gearbox, Torque | C. Sgea 74l / Remains same
increases and speed D. @ gt ;@ 3
The two are not related
9. =% ¥ O wer gur 39 F& F @IF F| A, FE [Caster
FOTH  #gd gl B. ¥@afer [Steering angle
Angle between steering axis and the vertical | C. @ 3o /Toein
axis of the wheel is called D. & 33T /Toe out
10| #ex ager & uw ARG F@OeR & GaRT @dr | A FET W9 # RR TFEA O Sl R0
g1 power transfer from main shaft to rear
A differential assembly in a motor vehicle axle
allows B. SR T gRR I & R rpm &t
' giel &ar &l
allows different rpm of left and right
wheels
C. <Y AT g i @ TH [pm H Bled
& &l |
allows equal rpm of left and right wheels
D. 3T Gl @0 gt &ar B
allows all of the above
11  aR us wifcaw stec @ dora & Wr @7 § ] A, 39S o 38 gidr &
ar GiEEsT g & e its diameter increases
If a metallic Bolt is pulled in tension then | B. 35 A HA FIT §
according to Poisson effect - its Diameter decreases
C. o # +15 Iiade aer
no change in diameter
D. %o Sarar 7gT Sif el
: : unpredictable
12|  sw uE 0.5 X oE F R 60 o v | A @
G e
& ¥ gearwr H =oldl &l D. /6
When a 0.5 meter long wiper sweeps an
angle of 60 degrees The tip moves circularly
by adistance of ...... meter
13| A< goiw & WA AR e, FRAME A7 | A, gIET /double
* gl , B. 3mer /Half
In a 4 —stroke IC engine cam shaft speed is| C. frdr &Y a;rfﬁ‘m'r
...... the crankshaft speed can be any multiple
D. |AW fequal
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Q. : .
No. Questlon Answer Op‘t;ons
14 Wﬁﬁmmmgéaﬁwﬁ A. =1 ST eTHar
& Low fuel efficiency
A high Carbon Monoxide content in the | B. fawrera vadire
exhaust means : Toxic exhaust
C. 3rayet get
Incomplete combustion
D. 39U |3l / all of the above
15| v wondr & wemN W uw 3O A. TFERT % CO &I & &ar §
IReds ) reduces CO content of exhaust
A catalytic converter fitted to exhaust system | B. ¥R &l & #cr ¢
' reduces noise
C. SeeT &THAT I JURar %1mpr0ves fuel
efficiency
D. 39UFT F HIg el
none of the above
16| ICZere &7 H9% emerehr gl A. [ ITH @vs 3R
Connecting rod of an IC engine has I or H section shape
B. Z®vog /7 section
C. 3FaR frectangular
D. geammiX /circular
17 ww 3% 93a Reat f&ir & girgar 05 A 25N
NITtes &1 oy dser dr SPua oy | O 0 N
TEiT 3 7 gl D. =T [Zero
A brake pedal return spring has a stiffness of
0.5 N/millimeter. If the pedal press is 5 mm
then the force in the spring will be _
18 faeya e dea & # 3garer R | AL IC 59T & weRe &
ST & starter of IC engine
Principle of electro magnetism is employed | B. ¥HfREE /thermostat
in C. A% /muffler
D. 3R qRads
catalytic converter
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Q. g ' L
No. Question Answer Options
19| voftw & ey W & g § Ruer & | A 0.112,0.017
fpaT 3f o T B. 0.118,0.020
ITER A ST B sw{rd d ¢ 0110, 0.015
@) ©l D. 0.119,0.020
External diameters of a pin are measured as
shown in Figure. The ovality and Taper are
...... (respectively) :
-~ A F-s Bl
=100.008
B2 =100.100
B3=
h 4 4 A 4 100.118
AT=100.516  A2=100.181  A3=100.115
20| &t @1 BHP &1 T #fa far oer | A, @R $F /Torque wrench
gl B. s@=#ARY /Dynamometer
- BHP of an engine is measured by C. @ei#e] /Tachometer
D. g /Odometer
21 feea g3@ & AT FdeR Bl A. T vl 30T A wEl g e A
Piston heads are dome shaped ASE Bl
To help proper mixing of air fuel
mixture
B. 3cUIEeT i W Salal
Ease of manufacturing
C. qeet /Balancing
D. ®ise 4, H 96kt
7 to increase crankshaft speed
220 glew (e & A9 @ Ifac FI A. 3mgf&T /Frequency
Hertz ( symbol Hz) is unit for measuring B. 39 /Speed
' C. TA /Acceleration
. D. #HesT /Retardation
23 uw & e A dueH & &g Sl TR H | A R H ST A€ RhAr S HhdT
& e ' ‘ Gears can be not used
To transmit power between shafls in the same | B. defe @ gfed & 3qAer fhar o @l &
direction ' Belt & pulley can be used
C. I TIHe T FTANT {2 ST &
Chain sprocket can be used
D. 39t Tl aer gl

All of the above are correct statements.
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1%0_ | Question Answer Options
24 IC Som #, Rt @ S T G G | A, Rieed # erherar daast @
& gHe gl Average force pushing the Piston
Area of piston multiplied by mean pressure in | B- AAraa wiaeer /Avearge stress
an IC engine equals C. 3T T /Average torque
D. HlawemFe HRpm
Rpm of crankshaft
25 g & wofreor fRar oA g A. TdI& o7 [Spark plug
Fuel is atomized in B. wamiex /Bvaporator
C. #AFerx /Muffler
D. g3 / Injector
260 offrc com _ awRw = | A 005
LT P
Shaft Diais 50 + 0.050/+0.035 and Hole D. 0.005
diameter is 50 +0.050/+0.045.
The maximum clearance is |
27, orR WY, e U aeEEe_ gar § A. SIET felastic
. Tyre Rubber is much more ....than Steel B. a4 /ductile
C. smgrdasy /malleable -
D. 3% gaer /stronger
28 e glwoT g F DU 9 ufdee s | A GRS w0 Yar & e
e efEd fRar st § g9 softew Slope of the initial straight line
ST & W B. 3ifaw aféser ufdaer
When stress is plotted versus strain for a metal  Final breaking stress
in tension test, Elastic modulus equals the C. i afdr a=
Final breaking strain
D. sfdar gfeer & @ & g
Ratio of breaking stress to strain
29 ue & FRT §ees WY Ao # A | A FERT AT /Spring washer
& ARy & WA oy Srar g B. #= anr /standard washer
To prevent loosening in a bolted joint due to | C. aye= {Tapered
vibration........, washers are used D. ¥T /Thick
30 gdor WIF Forg R 7 3UGr AT oM@ | A, TR A A=K SiE9
&l Constant mesh gear box
Friction cone clutch is used in B. TERr /Synchromesh
C. S-S TS aieg
In-line sliding gear box
D. 3ulad H Fi gr

None of the above
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Q. . .
No. Question Answer Options
31 VT A guRa ¥ v aReEr | A. Bhp
Ty B. gt % Tdheliex AKm
VVT is introduced to improve K per liter of fuel
C. 3cHod FH LAl &
reduce emissions
D. 3uteEd @l /all of the above
32| fafdisr o @ & S e A. FiTT AT A FAFTH A
Cylinder head is made of Cast Iron or Aluminum Alloy
B. diET /copper
C. 9rga /Brass
N D. & Bronze
33| weierE AR A W SART R A.ﬁﬂkﬂi‘f%&mﬁaﬂmmmﬁﬁw
Connecting rod is made of High grade Alloy Steel or Aluminum
B. "gfed giar /Cast iron
C. @8 /Bronze
D. argels /Nylon
34 aawa@ﬁ:%hta’r.%mm%ﬂw A. THRAT AT FHTT e grar
HHATS AT A (deTY) Does not stretch or contract
When a sheet of metal is bent, the middle | B. "t giar /Contracts
plane or line (neutral) C. garar /Stretches
D. F& =gl S o GehdiUnpredictable
35|  uwe TATeiE o & o0 Tt 3UAA=80 ce | A. 8090
For FemiE AEE=10 cc IER  HAIS g' ég iggoo
T T D. 90+ 10
For a single cylinder engine swept volume=380
cc and clearance volume =10 cc. Then its
compression ratio 18 4
36 ABS F & AU & A KT JEARAT | A, Th YU /Wheel rotation
gl B. @& [Torque
ABS function requires measurement of C. amaaeT /Temperature
D. %heX /Camber
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TE 09(Motor Vehicle Mechanic): Series — B

Q. . .
No. Question Answer Options
37 Hrr guin, e & fAT @ld wroad deg & AL H
AR H TR H IUIGT BT & BV ,
For the shaft shown which force produces C. ?Ham_/b()ﬁ_lv and H
torque about the cente . D. alat 8 78 /Neither
V, Vertical
force
. H, Horizontal
"~ force
3 Mo A RAME féw dw FX A go F| A, el dee, atex 9, st o, e
3MegIfer & forw wgr Affher dieda g R, Fold AU, doF
The correct checking sequence  for Fan belt, water leak, oil leak, tire
overheating of an engine in a car when pressure, clutch slippage, brakes
reported to garage is B. gt d f&ufd, ofiders aurar, de®
TeréT, AT SiFE IEA .
Engine condition, coolant quality, self.
starter, gear box oil
C. 91T & Ul UIR, TR $r 2ufy,
Compression pressure of the engine, tire
condition, fuel quality, suspension,
D. et dec, dleX s, ded), wwmafdT
Fan belt, water leak, battery, Alternator.
39| dad R cm & & 99 § S v g@y w| A 2enr? /360
: 2
A @@t g ¥ fer Rab & ot & | B 2 /360
. ~ C. enr? /360
HROT [d5fes UT Fol T Aol § D. 2 omr?
There are two wipers of length R cm which do
not overlap. The total surface area on the
windshield due to rotation of Theta degrees is
40]  ICESeT # 3=lelc dTed ¥ @S, oaTd ded & | A. ®rer /Smaller
Sl & B. asr /Bigger
In an IC engine Size of an inlet valve| C. @& /Identical
S compared to exhaust valve D. 3R § FE g
None of the above
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Q. . e
No. Question Answer Options
41| ICseeT & fafelst g & & AT Weg | A, FSAT 30T Odg &7 dekT
IS fohaT TR § Increasing heat transfer surface area
Cylinder head of an IC engine is provided | B. 3cTIGs T 3T Tl
with fins for ' ease of manufacturing
C. et ffashion
D. 30ad e
increasing volume
42 red 20 & @ & AN B A T ge| A a2
UE Jed @ 0T afE BRr smr § A ged @ g' g
3 9a
[EERUN 1 D. a
A circle is drawn touching four comers of a
square of side ‘2a’; then the radius of the
circle is
43|  fettat@d T W1 1000 fRar. & ue s | A 200 kg
W, q@ & al gE o fRE & wa ww | O 1000
tEgifaw fave § fowe frar o &1 Res D-.Skg g
85 Al =A T A2=5A ¢ UThd EH &
AR, FE B IMUN &7 & fov o e
W HELF T §
Refer sketch below. A car of weight 1000 kg
is lifted in a hydraulic lift with two cylinders
filled with a fluid. The piston areas are A1 =A
and A2=5A. By Pascal’s law, the force
required at the smaller piston to support the
car is _ :
Weight = 1000 kg -
Area A2=5A
Area :
Al=A -t 1|7
44 g T Rfsar & A. ®fEr [Cutting

Honing is a process of

B. afeser /Welding
C. fafeser Milling
D. s) R /Bore finishing
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Q. . o
No. Question Answer Options
45 uw goW # Wew s aw fwea & | A Isirae B /Gudgeon pin
i I 39T FFAT ST & B. fRar Rt /king pin
In an engine......... is used between | C. s WA= /Crank pin
Connecting rod and Piston. D. @ T /Normal pin
46| LAMBDA %ds, MPFL yorrél o #r | A.NOx
il e | g g;trol
LAMBDA sensor defects...... in MPFI D CO
system.
47| ar giaesdY &8 & Sisw & AU 39 i 5 | AL @iy G MUniversal joint
|y g B. siwmel G /Knuckle joint
To comnect two intersecting shafts the Joint | C. @g-wg " /Tie -rod joint:
used is........ D, arer wfer /Ball Joint
48 y=x* & wHEHToT § A, g [Circle -
y = x* is equation of B. @3 @ /Siraight line
C. Gusiter /Parabola
D. fegear /Ellipse
49 BR W ST 09 TS G gU RS § A & | A U & fis same
Wr W feegdt W oEee @ go wd §, dF 99 | B 9 & g sier e
& AT F gram| pull is smaller than push
The effect of force, F, on a car when you push | C. 3T ¥ ¥ &ieT ghrr
from back or pull from front at points on a push is smaller than pull
same line (see Figure) D. $& a1 =6l HedUnpredictable
PUSH, PULL, F
T O
S0 3y el e & o Wi ¥ AR F | A X =1
uRrese & FHET § | 2 =y
Equation to intersection of a cylinder with a D. Yy
plane perpendicular to its longitudinal axis is
51 a=wer @ g & IR & 37ard gl A. 39 S F 4 AT

Ratio of Area to Circumference of a circle is

4 times its Diameter

T

C. = & TH =Y Hrar
one fourth of Diameter

D. =i /Diameter

o
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I%;). Question Answer Options
52 %5 W7 Sew ¥ W UR WESHF T R | A. Ui /Parabolic
pers eeersre B. g9&R /square
Shape of reflectors around head lamp bulb is | C. S¥=R /cylindrical
generalb’ D. @ /conical
53 ﬁﬂ?ﬂﬁﬁ_ﬁmamﬁl A. A T GFE

Dog clutch is used in

‘Constant mesh gear box
B. f@@aer /Synchromesh

37T /Differential
D. 3REd  FIg T8

None of the above.

O

54

WNEdHT o9 8 W gger _ H g ol

Combustion occurs at constant pressure

>

Sistel Trswor /Diesel cycle
B. 30t @sshd /Otto cycle
s o uAlsRS Tewd
Any thermodynamic cycle
Fulwd A Pl A& '

None of the above.

o

=

55

(Tl & TAET 3T & arg) BHP &
(With usual notation of symbols) BHP equals

Tawp

2nNT/4500
aNT /4500
2N/4500
27 T/4500

56 (Tehdl % AT 36 & @) [HP § ' A. PLLAN K /4500
(With usual notation of symbols) IHP equals B. LAN K /4500
C. PN K /4500
D. P,LA K /4500
57, 0.001 & 0.00001 ¥ REnRE ¥ A. 1000000
. C. 100
0.001 divided by 0.00001 equals ......
D. 10
58 _ -—biwsz—tiac‘ A ax®+bx+c=0
X—T Q?Eﬁﬁ‘ﬂ?ra?‘r%’ B. ax3+b2=_c2
_ C. a? +b? = xc?
X = %ﬁgare the two real roots of ........ | D. a® +xb? = xc?
59 v TR g POl ¥ aEd i A NI AFe frear left
ST &1 . , B. e dwe /front left
The stepneytyre generally goes to the place | C. e Tge /front right
of..... during rotation D. ¥R e €T frear right tyre
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Question

Answer Options

60| adg Taus o9 Fog HERE § 99 Fod
feode, 9aw &7 & gddia

Clutch slippage while cluich is engaged is
particularly noticeable

A. wEfEEa g9 Ut
At starting engine )

B. &9 Ha@s Usel @@ o@ far e /
When accelerator pedal is pressed

C. fFr & &Rma |
During braking

D. & 331 7 /At low speed

% d& /Rough work
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Question Answer Options

U aEG & T T GeIHA & eI A. Toear¥oT §q HaTacceleration duc to
THT g & , ' gravity
Ratio of weight to mass of an object equals B. #eear /density

C. 1

_ D. fafafise aae /Specific weight

FETAEISA R & gl AT, Beafat@d | A, ﬁsﬂﬂﬁiﬁﬁ? Trer wigEreinforcement
T 39T fvar ST & steel chords
In making automobile Tires , following is | B. 88 /Rubber
used C. gdia MNylon

D. 39Qad Tl FAT

: All the above materials
U 9 F 35 H | T A & R s | AL wed weer v

gl 38F 9U @ ygAfRT frar ST a vertical straight line

T B | B. WEITe®F fparabolic
A parcel is dropped from a flying aero plane. | C. Fram@R [eircular
Its path can be approximated as D. T3 ST /zigzag
fETATAfeTR 3aIa tan(45) ﬂym g A. 172
Value of trigonometric ratio tan (45_) equals g (1)
D. 1/4
1000 5.7, gofelarer U &R A1 1#/aFs & | A. 100056 /1000Toules
ol @1 ¢ & afdes Fer & B. 5003fer /500Toules.
Kinetic energy of car mass of 1000 kg | C. 1siier /1Joule
moving at I m/sec is D. ufr wés #F 1000 fFah. #1000 kg m
~ persec
SIS U G @ ARud FE @ ww emar ¥ | A 9.81m/32 :
T 3 e 2| B. 10m/s
. . . C. 9 m/s
When a ball is dropped from a certain height D.1 m/s?
its acceleration will be equal fo : '
o TG TR T @, 1000 FrAl aonT & | A. 250 Rrar /Kg
W$4WWT€'M@WW$§TO{ B. 1000 fs.3r. /Kg
g § C. 500 f&am. /Kg
sum total of vertical Reaction Forces at 4 { D. 10 fr.ar. Kg

tyres of a car standing on flat road weighing
1000 kg is
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S;)- Question Answer Options
AT aeed F v ROG GO F IR AT | A, HET AU § YW THAS T Fofl AT
2l power transfer from main shaft to rear
A differential assembly in a motor vehicle axle _
allows B. SR @ gAY g & fAfRes rpm @ ¥
g &ar ¥l
2 allows different rpm of feft and right
' wheels
C. Y T ST W TqH rpm F E
e &l
allows equal rpm of left and right wheels
D. Iwied Tl & g &ar ¢
allows all of the above
a7 wE eifeas dlec @ darg & WA ST § | AL 3O eI AT giar &
dr diEe e & 38N its diameter increases
If a metallic Bolt is pulled in tension then | B. 3HE A HH BT &
9 according to Poisson effect its Diameter decreases
' C. =urg # g gRade 7al
no change in diameter
D. $& Sarr A& ST Feher
unpredictable
TETFT & T R @, o F Sear & Tur| A. %A &ar § /Reduces
3 g ¥ B. s&ar § /ncreases
10. At lower gears of the gearbox, Torque | C. §¢elid =Tl / Remains same
increases and speed D. o gt e &
The two are not related
IR & FOT @weT JUT Ftd e & @ & A e [Caster
HOT A FEd Bl B. &rafi{er /Steering angle
1L Angle between steering axis and the vertical | C. 2T 3 /Toe in
axis of the wheel is called D. 27 35T /Toe out
ST UF 0.5 HieY dars & e 80 fZE wor | AW
# wfta g & swh Aw e w0 2T
" q&ﬁw#mél D'.n/6

When a 0.5 meter long wiper sweeps an
angle of 60 degrees The tip moves circularly
by adistanceof ...... meter
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' I?fo Question Answer Options
4-FIF S H FA MU JI, FHHATFE I | A. g /double
* gl B. 3mer /Half
13. In a 4 —stroke IC engine cam shaft speed is | C. ey &r iﬁm
...... the crankshaft speed can be any multiple
D. §AT fequal
TFHIEC # FTH Flad A F O # 38| A. AT SU evar
gl ‘ Low fuel efficiency
A high Carbon Monoxide content in the | B. TosTeg wadiee
14. exhaust means ' Toxic exhaust
C. 3/HYUT &gl
Incomplete combustion
D. 3R el / all of the above
vE 9F Y5 Reed T F gimmar 05] A 25N
NBeties 31 o dsr ser sfuatt, & e | O ON
15. FeeT 31 5@ gl D. =F [Zero
A brake pedal return spring has a stiffhess of '
0.5 N/millimeter. If the pedal press is 5 mm
then the force in the spring will be
foege gehg dea & # 3w fRAr | AL IC ot % weRed #
Srar §1 ' starter of 1C engine
6. Principle of electro magnetism is employed B. yHfeee /thermostat
m - | C. AFeX /muffler
D. 3¢ qRad®
‘ catalytic converter
TFHEC GUICl H oENOT AT TR SR | A, UFHEE & CO B FH aar & ;
IETds ' reduces CO content of exhaust k
A catalytic converter fitted to exhaust system | B. X @I %ol &l §
17 reduces noise _
C. B Tl i GURAT Eimproves fuel
efficiency
D. 3Wed d FS 7ar
none of the above
ICEateT &l TOd AqelT A. 1 IMH T8 H&R
Connecting rod of an IC engine has I or H section shape
8 B. Z@vsg /7 section

C. 3¥d=R /frectangular
D. gedm@R feircular
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Q. . .
No. Question | Answer Options
e & Ew s @ fE & Rwe &) A 0.112,0.017
; B. 0.118,0.020
3RTER A9 T IR JAT >
& e 81 ¢ ST C 0110, 0,015
(FFRr) B D. 0.119,0.020
External diameters of a pin are measured as
shown in Figure. The ovality and Taper are
...... (respectively) :
19. £ 2 ﬂ‘
B1
=100.008
B2 =100.100
B3 =
y Y . 100.118
AI=100.116  A2<100.101  A3=100.115
g5+ %7 BHP @f & @fag T smar | AL @ 3T /Torque wrench
20 gl ' - B. sEAEARET /Dynamometer
' BHP of an engine is measured by C. er#Re /Tachometer
D. 3ftE#ex /Odometer
ToTeet g3d _ % v JEeer &l A. g R 0T T e e e A
Piston heads are dome shaped HEE Hla
To help proper mixing of air fule
mixture
21. B. 3cUigel I TXeT Jeflel
Ease of manufacturing
C. qe=T /Balancing
D. wFwe d, F JokT
to increase crankshaft speed
glest (RE___ & A9l & gfae g1 A. 3mglea /Frequency
- Hertz ( symbol Hz) is unit for measuring B. 97 /Speed
' ' C. a9 /Acceleration
D. #Hesl /Retardation
R & feem F dvew & dry I WU FE | AL I @ 3Gt AGT RAT S HhdT
* Bu Gears can be not used
To transmit power between shafts in the same | B. sef¢ g gfed FT IO HAT S FHA &
2 direction Belt & pulley can be used

C. AT EIhe 1 ITAWT AT ST §
Chain sprocket can be used
D. 3R @l @8t g

All of the above are correct statements
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I%). Question Answer Options
IC 91T A, fwed &1 &% o 3ied a9 | A, Rees # adhoar 3ade a9
& AHF B Average force pushing the Piston
24 Area of pi.ston multiplied by mean pressure in | B e ﬂﬁﬁﬂ [Avearge stress
' an IC engine equals C. 39 @& /Average torque
D. wHidmare HRpm |
Rpm of crankshaft
U 3 woleor e ST B A, T w91 /Spark plug
Fuel is atomized in B. wamdRex /Evaporator
25. C. ATl /Muffler
D. ga1%eX / Injector
gve AW @wm gd.eEw ¥ | A 005
et R Db
26. ' Shaft Diais 50 +0.050/0.035 and Hole| 1 o005
diameter is 50 +0.050/+0.045.
The maximum clearance is
RN TR, T & w0l g & A. 9AREY felastic
Tyre Rubber is much more ....than Steel B. d=g /ductile
27. C. ¥eraaed /malleable
‘ D. 3f9% 9de /stronger
T TEvr # 4 F fov o9 gfded s | AL IR w3 W $ g
I Wref@d ey @ar § g9 sdftew Slope of the initial straight line
ASIOT - H GERT E B. sifasr afdher ufaaer
28. When stress is plotted versus strain for a metal Final breaking stress
in tension test, Elastic modulus equals the C. 3ifd# diear dret
Final breaking strain
D. sféher wfdiael & a1 & 3fqarT
Ratio of breaking stress to strain
fafeisy iy #1_ & F=ar wm@ g A. FIEE dgT ar gRfege Py
Cylinder head is made of Cast Tron or Aluminum Alloy
29. B. dmEr /copper
C. dige /Brass
‘ D. T /Bronze
HIISTh ATClR & ST IR A. o9 Aol AUt oigr a1 oAt
Connecting rod is made of High grade Alloy Steel or Aluminum
30. B. @& giar /Cast iron
C. %" /Bronze
D. a@rgersT /Nylon
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[ '35,

No. Question Answer Options
S Us U] & e PG S § RS || AL GARCT AT GEHiEd A gl
AT I1 ol (deTY)_ Does not stretch or contract
31. When a sheet of metal is bent, the middle | B. ST & /Contracts
plane or line (neutral) C. 9arar /Stretches
o D. e &l JarT S FFaUnpredictable
FO F FNOT alees @i A FAf¥ee & Qe | A, FEsier @i /Spring washer
g1 anrl & yaer Far sar § B. #=F 917 /standard washer
32. To prevent loosening in a bolted joint due to | C. T9R3 /Tapered
vibration......... washers are used D. ¥ /Thick
HYUT T Fod H_ H IYART FRAT ST | A, TR I IRT died
& : Constant mesh gear box
Friction cone clutch is used in B. f®&#Aer /Synchromesh
33. C. TH-ogeT FIE aiag
In-line sliding gear box
D. 390Fd H &g =60
None of the above
VVT U F fov gftaw feAr| A, Bhp
Ty B. gue & uselicy #Km
34 VVT is introduced to improve Km per liter of fuel
' C. 3IcHSA FH FAT §
reduce emissions
D. FRiwd G4 /all of the above
vhe A 599 & AT raw 3raaa=80 cc | A. 80+ 90
o Bl IEAE=10 cc IFH  TUEA 2 ;8 jggoo
3 & D. 90+ 10
For a single cylinder engine swept volume=80
cc and clearance volume =10 cc. Then its
compression ratio is
ABS #1¥ & fou & A9 Y 3ETHAT | A, TF YUl /Wheel rotation
gl B. 2% [Torque
36. ABS function requires measurement of C. a9 /Temperature
D. #& /Camber
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I?I;) Question Answer Options
A e, oe & AT sl @ g9 e ¥ A H
I H TR @ 3cie BT g _ BV
For the shaft shown which force produces C. VaHzm fboth V and H
torque about the cente . D. 2=t & 77gf MNeither
V, Vertical
force
37.
. H, Horizontal
" force
N w O BT ww &R # go @ | A O o, akex o, sifter oY, T
AREET & v @y fer diedg & YA, Ford TEerdel, §F
The correct checking sequence for Fan belt, water leak, oil leak, tire
overheating of an engine in a car when pressure, clutch slippage, brakes
reported to garage is B. 5= &1 fufa, ofigem o, S
P
Engine condition, coolant quality, self
38. starter, gear box oil
C. S+ & HYAT 9, TR Fr fTufy,
Compression pressure of the engine, tire
condition, fuel quality, suspension,
D. et dc, dicx o, S, geamafds
Fan belt, water leak, battery, Alternator.
éﬁléRcméﬁa?a@T%a’rwqmw A-26H§2/360
e g g &1 e R & golw | B 2 7 360 i*
. ° C. emr</360
30, FRoT fdselies W For W v & D. 2ol
There are two wipers of length R em which do |
not overlap. The total surface area on the
windshield due to rotation of Theta degrees is
ICSSTeT # Selole ared & A5el, f@dld aled & | A. oer /Smaller
e q B. 37 /Bigger
40. In an IC engine Size of an inlet wvalve | C. @& /ldentical
18.ievinn, compared to exhaust valve D. IR & WE T

None of the above
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ST;). Question Answer Options
ICiam & Rflst g8 &7 _ & fow fem | A, 3or {07 §a8 &7 92
39y ToRAT IR B Increasing heat transfer surface area
Cylinder head of an IC engine is provided | B. 3cdiae I 3T Fefet

AL with fins for ease of manufacturing

: C. e /fashion
D. 3Idel gl
increasing volume
e 20 F A F UR B A F wE grl Aoa 2
U ged 1 0T afy fr oRr ¥ A geq wr | D @
, C. 2a
4. | FEmE D. a
' A circle is drawn touching four corners of a
square of side ‘2a’, then the radius of the
circle is
y=x% & gdewor A. g /Circle
y =x? is equation of B. O3 {@r /Straight line
43. C. Sreer /Parabola
D, aﬁa‘:}'—({mﬁ /Ellipse
FR IT A T G qU A § W TH | A, Th & fis same
@ R forgsfl W W § 99 T €, o @ | B. 9T & gof Bier grem|
FyIFGEF gl ' pull is smaller than push
The effect of force, F, on a car when you push | C. &/ & 2T @ier g
" from 1?ack or pl:ﬂl from front at points on a push is sma‘ﬂer than pull
same line (see Figure) - D. % war 7él @wdUnpredictable
PUSH, PULL, F
T O |
T SRS e & o wEae & QR F| A Xy =0

45. AR — ‘2' )}S:B;r
Equation to intersection of a cylinder with a D: .
plane perpendicular to its longitudinal axis is
8RSl | Jed IR & 3o B A. 39 =TT W 4 T
Ratio of Area to Circumnference of a circle is . 4 times its Diameter

B. =

46. C. =g F U T T

one fourth of Diameter
D. sar&@ /Diameter
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No Question Answer Options
§8 9 ged & WX YN YUddd F HN | A duarfew /Parabolic
AT gl | B. g /square

47. Shape of reflectors around head lamp bulb is | C. @@= /eylindrical
generally D. 3@ /conical
SIeT ol I H Iqterfesar T gl A. AY IR T
Dog clutch is used in Constant mesh gear box

48 B. [@®m#er /Synchromesh

' C. 3ial= Differential
D. 3RFT H Fg A&
~ None of the above.
RGN ga g g A gar ¥ | A S5 @swer MDiesel cycle
_Combustion occurs at constant pressure B, 3ffer @gsa /Otto cycle
49, Moo C. S ofr yferaAAF Wshd
Any thermodynamic cycle
D. 3Wad & Hlg Tal
* None of the above.
(Thdl & WA 3aeT & ary) BHP § A. 2rNT/4500
(With usual notation of symbols) BHP equals B. aNT /4500
50 , C. 2aN/4500
' D. 2xT/4500
(Hehdl o AT 3T F @) IHP § | A. PnLAN K/4500
(With usual notation of symbols) IHP equals B. LAN K /4500
S1. | | | C. PLLN K /4500
D. Py LA K /4500
0.001 =r 0.00001 & foonfolg &=T ¥ A. 1000000
¥ ' B. 1
52, . C. 100
0.001 divided by 0.00001 equals ......
D. 10
_ —btvb?—dac frorer A ax?+bx+c=0
*= 2a ._‘"éﬁa' T &l B. ax3® +b% =¢?
33, C. a®+b?=xc?
D.

—b+vhZ—4ac
2a

X = are the two real rootsof ........

a? + xh? = xc?
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Question

~Answer Options

54.

FUf 2By WAAd: gole & gET w
ST &

The stepney tyre generally goes to the place
of..... during rotation

R o frear left

e oo Hront left

we ST /front right

Y USC TET frear right tyre

Do wp

55.

frrafaf@s e 31 1000 fFar. % w a1
W, 5@ F a0 g oA R ¥ wy @
gt e & fowe fohar amm g1 feea
8T Al =A T A2=5A ¥ U%her @99 &
ITHR, HR A HYURX &7 & v e fOwed
U HETF T &

Refer sketch below. A car of weight 1000 kg
is lifted in a hydraulic lift with two cylinders
filled with a fluid. The piston areas are Al =A
and A2=5A. By Pascal’s law, the force
required at the smaller piston . to support the
car is

200kg
1000 kg
5000 kg
5kg

=Ro¥c S

Weight = 1000 kg !

Area A2 =35A

Area
Al=A ----F

36.

gifser  Rfsar g

Honing is a process of

A. HET [Cutting

B. afssar /Welding

C. ffsser /Milling

D. 17 f=R /Bore finishing

37,

T Sod H Haoe U3 Jur Owed &
d &7 39T T ST g

In an engine......... is used between
Connecting rod and Piston.

A. sfeaE = /Gudgeon pin
B. e U= /king pin

C. ®iw e /Crank pin

D. @y & MNormal pin

58.

LAMBDA dHde, MPFI womelt & &0
TR #r & ‘
LAMBDA sensor detécts...... in MPFI
system.

A.NOx
B. O,

C. Petrol
D.CO
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Answer Options

No. Question
a1 wldeaer <87 #T Siis & T 399 & 9% | A, @raf¥e |7 /Universal joint
IR B. el WY /Knuckle joint
59. To connect  two intersecting shafts the Joint | C. eg-wrs @R /Tie -rod joint |
used is. ... D. e T /Ball Joint
Ford [TEYT A9 FOT PRI ¥ OF Fow | A Fefeea §5id 9
Eerdsr, 9w ®9 & geehr & - At starting engine
Clutch slippage while clutch is engaged is | B. 519 Ha9re 98el i 9g fowar arr /
When accelerator pedal is pressed

60.

particularly noticeable

sfher & &
During braking
®H A9 H /At low speed
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]\? ' Question Answer Options
o.
UHAE YOTell # SR AT UH IORS | A, wFERE & CO-F $ ol ¥
I ERED reduces CO content of exhaust
A catalytic converter fitted to exhaust system | B. ¥R & &F Tl §
| reduces noise ‘
' C. 39+ &THaT S GURAT gimproves fuel
efficiency
D. 3WFd # &S AT
| none of the above
[CESTeT T TGS TareT gl A, I 9TH @ &R
Connecting rod of an IC engine has I or H section shape
2 B. Z@vs /7 section
C. ATAHI /rectangular
| D. geamhR feircular
TS0 & sEg e @ RE F ffmm & AL 0.112,0.017
HFAI HivsT fhar S B 3{seieg gor TR g' 8'333%%2105
(GHer) @ D. 0.119,0.020
External diameters of a pin arc measured as
shown in Figure. The ovality and Taper are
...... (respectively)
3' » F 3 F: %
B1
=100.008
B2 =100.100
B3 =
\ 4 y 4 100,118
AIS100.116  A2=100,101  A3=100.115
U T $ To ¥ GoOAN F A A. TEcAIFNUT §9 HdTacceleration due to
A B §1 gravity
4. Ratio of weight to mass of an object equals B. ®EeIar /density
C. 1 .
D. fafafése asrer /Specific weight
gifaer fsar g A, &I /Cutting
Honing is a process of B. afegor /Welding
5. C. fafessr Milling
D. &R f%fafeer /Bore finishing
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its acceleration will be equal fo

No. | o Question i N Answer _01131:1(.)113
Uh o A wdew uE dw Rwed & | A IEfoae . e /Gudgeon pin
= FT 39T fRar Srar B B. frer =1 /king pin

0. In an engine......... is used between ! C. s fd /Crank pin
Connecting rod and Piston. D. AT e Normal pin
LAMBDA #dg, MPFI womelr # & | A.NOx

' LAMBDA sensor detects...... in MPFI | 0 s
D. CO
system. '
AT SRRT & SO0 §AT, Rrarad | A Rewride e wigdreinforcement
& 39T T sar § steel chords
g In making automobile Tires , following is | B. ¥&5 /Rubber
' used C. #Arsdi Nylon
D. 3Wied @l g
All the above materials
TF U F I3 A @ U REE @ IR ST | AL 3R 6 e
¥ 3EF 9 F__ IATEa TR e a vertical straight line

9. T B ' B. r&Eifers /parabolic
A parcel is dropped from a flying aero plane. | - JeHR feircular
Its path can be approximated as D. TS ST /zigzag
feaaTafes Jd tén(45) T HedT § A 172

10. Value of trigonometric ratio tan (45) equals ]éj (1)

D. 1/4
1000 frai. goietarelr UF FX ST 1808Ss # | A, 1000Sa /1000Joules
T @ § F Al Foft § A B. 500sfte /500Joules.
1. Kinetic energy of car mass of 1000 kg| . 1siter /1Joule ‘
moving at 1 m/sec s D. wfy w¥s F 1000 fs.ar. #1000 kg m
per sec '
S o i e S & PRrr ondr § A-9.81m'/322
g, | T 3EH H el o 211;22
' When a ball is dropped from a certain height |

1 m/s?
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I\%. Question Answer Options
T WA (Y T @2, 1000 Rl g ¥ | A. 250 Brar. /Ke ’
F % 4 T X W@ B Sl a@ H ) B 1000 B Kg
T & C. 500 fham /Kg
13. Sum fotal of vertical Reaction Forces at 4 | D. 10 &3 /Kg
tyres of a car standing on flat road weighing
1000 kg is
AT Ae A U QA WU F IRt @ A e ove @ YO UHAE g e 3N
Fl ' power transfer from main shaft to rear
A differential assembly in a motor vehicle axle :
allows B. s 9T grIX Tl & e rpm
81 &ar &
14 allows different rpm of left and right :
wheels :
C. ST 97 &R Ul & TH rpm & g
. gar g
allows equal rpm of left and right wheels
D. 3wied g7 &7 g gar §1
- allows all of the above
ﬁwmﬁmmﬁwﬁmm%‘ A. 3TF O 3WF BT &
df ST VT F 3RTEN | its diameter increases
If a metallic Bolt is pulled in tension then | B. 38 <T@ &H giar &
15, according to Poisson effect its Diameter decreases .
C. =arq & g IRade =g
no change in diameter
D. $& Samr gl &1 d@adr
unpredictable
ﬂumﬁa%ﬁmﬂaﬁw@a#am%‘.m A. FH gIar & /Reduces
BT g B. #§&dr § /Increases
16. At lower gears of the gearbox, Torque | C. sgamd =18 / Remains same
increases and speed D. =t waftg a8 &
The two are not related
TH & TN HeT qUT FET 6T F 9T F | A, heex /Caster
FUTH ___ Fgd E B.. TR [Steering angle
17. Angle between steering axis and the vertical | C. @ & /Toe in
axis of the wheel is called D. 2 313 /Toe out
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No. Question ) . Answer Options
5§ TF 0.5 Hed 795 & aaw 60 B wior | A 7w
# ol g & s Aw s w| O 2%
18. T ¥ geare 7 "o D. x /6
When a 0.5 meter long wiper sweeps an '
angle of 60 degrees The tip moves circularly
by adistance of ...... meter
4-TEI® Faldl # FIA AFC A, HIHAE AT | A. &I /double
& gl B. 3mur /Half
19. In a 4 —stroke IC engine cam shaft speed is| C. fomar or alﬁa'r
B the crankshaft speed can be any multiple
D. A= fequal
TFHIET H 3T Flad AAFNS F o @ FT | A T ST THar
Tl | Low fuel efficiency
"A high Carbon Monoxide content in the | B. RwrEa vadiee
20. exhaust means Toxic exhaust
C. 3oy ggw
Incomplete combustion
D. 393&Fd T / all of the above
Wﬁ?%ﬁﬁtﬁmﬁ@mo.S A 25N
NIFYEeteT 31 i der der sfah A g | ool
21, | T A EEEEm D. ¥ /Zero
A brake pedal return spring has a stiffness of
0.5 N/millimeter. If the pedal press is 5 mm
then the force in the spring will be
frega dad aog & # 39 A | AL IC 59 ¢ RN |
JET starter of IC engine
59, Principle of electro magnetism is employed | B. ¥HRLT /thermostat
in C. AT /muffler
D. 3e0Re afiad®
catalytic converter
g & BHP #7 ¥ #nfag fmar smar | A, @ 39 /Torque wrench
2l | B. s /Dynamometer
23. BHP of an engine is measured b C. erniAe /Tachometer
D. 31gEeT /Odometer
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I\% . Question Answer Options
Rees dgw ¥ v JeeraR & A. a1 e THeOT & T8 e e &
Piston heads are dome shaped HEE T
To help proper mixing of air fule
: mixture
24. B. 3cUies &I el dAT)
Ease of manufacturing
C. defe /Balancing
D. F®weiee 3, & T
_ to increase crankshaft speed
geol (e & A &1 3T A. 3fed /Frequency .
Hertz ( symbol Hz) is unit for measuring B. a1 /Speed
25 ' C. T /Acceleration
D. #FesT /Retardation
ww & G F dwem & drg o AT e | A SR s sTRier A8 BT s aer
& for Gears can be not used
To transmit power between shafts in the same | B." sofe @ Qiee &I 3u=eT f&ar o1 wehar &
%. direction Belt & pulley can be used
C. o7 BT & 3TN o5 Sashar &
Chain sprocket can be used
D. 3w#a |l TEr gl
All of the above are correct statements.
IC gofef &, RIFest o &% IOt 3t e | A, Rvest @7 usharar shaas g
% g g Average force pushing the Piston
27 Area of pi‘ston 'multiplied by mean pressure in ;| B- 3T Ufager /Avearge stress
' an IC engine equals C. 3irad e /Average torque
D. HIFFRATFT HRpm
, Rpm of crankshafi
Sl _ ¥ wofewor forar ST & A. T4 T [Spark plug
‘ Fuel is atomized in B. wamMex /Evaporator
28. C. |7’ /Muffler
D. saieex / Injector
LWE e _ @ g e § A 005
s |l
29| Shaft Diais 50 +0.050/+0.035 and Hole | § 9005
diameter is 50 +0.050/+0.045. ‘
The maximum clearance is
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I\?(;. | Question | Answer Options
TR WY, T § aee@s gar gl A. TSITEY felastic
Tyre Rubber is much more ....than Steel B. @ /ductile
30. C. smaraaed /malleable
D. 3% g« /stronger
FE qlieror # Uty & AT o9 ufed gder | A oS W W F g
= Fef@d far Sar § 99 geiees Slope of the initial straight line
AT & TR ¥ B. sifaer afer witeer
When stress is plotted versus strain for a metal Final breaking stress
3L in tension test, Elastic modulus equals the C. #fam dfrer a=
Final breaking strain
D. sfder wfdeer & af F 30
Ratio of breaking stress to strain
fafdst o & & a=mar o ¢ A. FiEe dgr a1 rgfafaas fAsuag
Cylinder head is made of Cast Iron or Aluminum Alloy
32. B. @fsr /copper
C. diger /Brass
D. si@r /Bronze
ANl ATl L W &= TR § A. e Aol B e ar sefafe
Connecting rod is made of High grade Alloy Steel or Aluminum
B. "faa g /Cast iron
331 C. & Bronze
D. arse=T Nylon
o4 UF Ui & e FT FgHEET S § AT | A, THRAT A WHTAT S gar
HAdS AT ST (de&y) Does not stretch or contract
14, When a s.heet of metal is bent, the middle | B. @ giar /Contracts
plane or line (neutral) C. YHRAr /Stretches
D. & @l T4 S GahdUnpredictable
U & FROT Sees WY A R @ Vel | A, TERT @R /Spring washer
g ARy & gAWT fhar e ¢ B. & @ /standard washer
35. To prevent loosening in a bolted joint due to | C. 2ws /Tapered
vibration......... washers are used D. ¥ /Thick
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force

Q. . .
No. Question Answer Options
| uor B Ferw wT @ ITReT T omET | AL RRUT A R afFw
&l ‘_ Constant mesh gear box
Friction cone clutch is used in B. Rslaer /Synchromesh
36, C. So-oligel TS aled
' " In-line sliding gear box
D. 3UUFd # Hl5 AT
None of the above
VVT HOPURA & T afew fear A Bhp
T : B. s & Tadaed #AKm
37 VVT is introduced to improve Km per liter of fuel
‘ C. 3 FH FIT &
reduce emissions
. D. 3uiea gafr /all of the above
TS [ATelsY S5 & ot & 3Idea—80 cc | A. 80+90
aw Famd WEEH-10 cc 3EH GRS }é' ég jSSOO
g | TITEE D. 90+ 10
' For a single cylinder engine swept volume=80
cc and clearance volume =10 cc. Then its
compression ratio is
ABS &% & fav & AT T IEIHRAT | A. TF YU /Wheel rotation
gl ' B. @& /Torque
39. ABS function requires measurement of C. a9aAe /Temperature
D. &aT /Camber
A gelT, ure & T H @ g7 deg H | A H
TN #H T I 3earesT Ha gl B.V 2t fboth
For the shaft shown which force produces < VatH _ Ot_ Vand H
- torque about the center v, v ey D. 2¥t of =187 /Neither
force
40.
H, Horizontal
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No. | . ;—-‘_.:Quesnon B o Answer OPhons
AT W RO BFr v wR A o #= A. ¥ do%, diet &, sifaer o, T
sfacdifEer & for wer afder dedy & VR, Ford fEerel, s
The correct checking sequence for Fan belt, water leak, oil leak, tire
overheating of an engine in a car when pressure, clutch slippage, brakes
reported to garage is B. gota &t fTufa, daesd aurar, do%

TR, MR SiFE HEd
Engine condition, coolant quality, self
41. starter, gear box oil '
C. o & FoUe 9, TR Hr Fufd,
Compression pressure of the engine, tire
condition, fuel quality, suspension,
D. et dog, dicX &, 98, vearaiad
Fan belt, water leak, battery, Alternator.
das R om & @ agw § o T gl W A.2emz"2/360
s A g ¥ e R & ol % | B 2 0
. " C. emr=/360
49. &RoT [93eles W Fof Tdg SAF & D. 26 mnr?
There are two wipers of length R cm which do
not overlap. The total surface area on the
windshield due to rotation of Theta degrees is .
ICEsT & saelc dled & 15, faid aled & | A, Bier /Smaller
e d B. ¥8T /Bigger
43. ‘In an IC engine Size of an inlet valve | C. Igr /Identical
5. compared to exhaust valve D. 3uEd § A5 7
None of the above
ICEe= % fafdet 85 #r ¥ fow F=a | A. FvAT VT Hag &7 dem
Iuerstr T T §)  Increasing heat transfer surface area
Cylinder head of an IC engine is provided | B. 3cdied R I Tl
44. with fins for ease of manufacturing

et /fashion
D. FIdA ST
increasing volume

e
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Answer Options

I\% Question
PR 9T G AT NS W YA 9= § A UF & | A, T & fis same
@ w3 9 aES @ O IR, o a9 | B g § e oler g1
& gHIEG F gram| pull is smaller than push
The effect of force, F, on a car when you push | C. 9o q q=r BIET BT
45 from back or pull from front at points on a push is smaller than pull
' same line (see Figure) _ D. %& adr 7@ HedUnpredictable
PUSH, PULL, F
e W s— i — = L
@ (6]
T 22’ & T F AN P A el Aoa 2
U geat ol FOT ARy fwT mr @ geq @ | B @
: N “ C. 2a
46. | BEEwE D. a
A circle is drawn touching four corners of a
square of side ‘2a’, then the radius of the
circle is
y = x2 & FHEHEIOT § A. ged [Circle
y =x* is equation of | B. &er @ /Straight line
41. C. WRr&rer /Parabola
D. degeare /Ellipse
SIaT SForel H ITAETRAT ST A. B I T
Dog clutch is used in Constant mesh gear box
B. T&®#e /Synchromesh
48. C. 3talig /Differential
D. 3WiFd H &5 Adl
None of the above.
IaREd-T 19 g § g Faar gl | A o argehal /Diesel cycle
Combustion  occurs at constant pressure | B. 3fiey Hgwe /Otto cycle
e C. R ofr yAfsrgAiF Fsad
- 49, .
Any thermodynamic cycle
D. 3T H 315 Al
None of the above.
(H&dl & G 3iehat & @72) BHP & A. 2aNT/4500
(With usual notation of symbols) BHP equals B. aNT /4500
50. C. 2aN/4500
D. 2aT/4500
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No. ) Questlronr 7 Answer Opt}clms
(Gt ¥ T ste & @) THP § A. PuLAN K /4500
(With usual notation of symbols) IHP equals B. LAN K /4500
51. C. PnLN K /4500
D. PnLA K /4500
0.001 @ 0.00001 & Fsrford =t & A. 1000000
3 B. 1
52, . C. 100
0.001 divided by 0.00001 equals ...... D 10
_ ~b+vb?-—4ac A ax®*+bx+ c¢c=0
x= =2 & e Rae ait gl B st
2 p2 2
53 L p— C. a*+b“=xc
‘ X = bi:;—ﬂare the two real roots of ........ D. a? + xb? = xc?
R T AT guld & A o | A R Awe frear left
ST £l B. e o9 /front left
54, The stepneytyre generally goes to the place | C. we Uge /front right
of..... during rotation D. WX ST TET /rear right tyre
it e &) 1000 fram. & v @ | A, 200kg
W, oq & ad g @ MR & W ww| D 10008
gresioer foge & fBve frar s &1 Rt D‘.Skgg
aF Al =A T A2=3A B e fw &
AR, FR A AU & & fow e P
9 HEGWTH aof &
Refer sketch below. A car of weight 1000 kg
is lifted in a hydraulic lift with two cylinders
filled with a fluid. The piston areas are A1 =A
and A2=5A. DBy Pascal’s law, the force
535. required at the smaller piston to support the

car is

Weight = 1000 kg

i Area A2=15A

Area
Al=A
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Q. . .
No. | Question Answer Options
a1 wfaeadr ¢st @ Sey & faw Iager o | A @rdfaF F@® /Universal joint
e ‘ ' B. #&Her €Y /Knuckle joint
56. To connect two intersecting shafts the Joint | C. e=-wg &R /Tie -rod joint
used is. .o D. arer ey /Ball Joint
Fog TaUs O Fod FRORD § d9 FoOT | A, Tl goe I
fremsr, fadw w7 @ et & At starting engine
Clutch slippage while clutch is engaged is | B. S/9 §ad#Id Usel &I 94 fohar amr /
particularly noticeable When accelerator pedal is pressed
57. C. afFT & =
During braking
D. &A 337 # /At low speed
58, | st aped % o WA & RS 5| A XAy =0
faeae, & FEET ¥ g- L
Equation to intersection of a cylinder with a D' Y:}Szf
plane perpendicular to its longitudinal axis is '
59. &l | Jedd & TR & I B A A9 =TH O 4 T[T
Ratio of Area to Circumference of a circle is 4 times its Diameter
’ B.no
- C. TUTH & U& 9 Her
one fourth of Diameter
D. =918 /Diameter
60. ¢ ¥ TE F FR UK Widd F HER | A Reriew Parabolic
TOTH=I: & B. @@®R /square
Shape of reflectors around head lamp bulb is | C. SR /foylindrical
generally D. /@ /conical
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Mechanic held on 27 November 2016.
(Advt, No. ISAC.02:2016 - Post No :TE0Y )

ISRO SATELLITE CENTRE
Answer key of the written test for selection to the post of Motor Vehicle

Series A Series B Series C Series D
Question Correct | Question Correct | Question Correct | Question Correct
Number option Number option Number option yumber option
1. A 1. A 1. A 1. A
2. B 2. D 2. D 2, A
3. A 3. B 3. B 3. C
4, A 4. C q, C 4, A
5. A 5. B 5. B 5. D
G, D 6. A 6. A 6. A
7. B 7. B 7. 8 7. B
8. C 8. A 8. D 2 D
9. B 9. A 9. B 9. B
10. D 10. D 10. A 10. C
11. B i1, B 11. A 11, B
12. D 12. D 12, D i2. A
13. B i3. B 13. B 13. B
14. D 14, D 14, D 14. D
15. A 15. A 15, A 15. B
16. A 186, A 16. A 16. A
17. A 17. A 17. A 17. A
18. A 18. A 18. A 18. D
19. C 19. C 19. c 19, B
20, B 20. B 20, B 20, D
21. A 21. A 21. A 21. A
22. D 22, A 22, A éz. A
23. c 23. D 23, D 23, B
24, A 24, A 24. A 24, A
25, A 25, D 25. D 25. A
26. A 26. C 26. C 26, D
27, D 27, A 27. A 27. A
28. A 28. A 28. A 28. D -
29, A 29. A 29. A 29, C
30. B 30. B 30, A 30. A
31, D 31. D 31, A 31. A
32. A 32. A 32, A 32. A
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Series A Series B Series C Series D
Question Correct | Question Correct | Question Correct | Question Correct
Number option Number option Number option Number option
33. A 33. A 33, B 33. A
34, A 34. A 34, D 34, A
35. D 35, D 35. D 35. A
36, B 36. A 36. A 36. B
37. A 37. A 37. A 37. D
38. A 38. A 38. A 38. D
39, A 39. A 39. A 39. A
40. D . 40. B 40. B 40. A
41. A a1, A 41. A 41. A

42 B a2, A 42, A 42, A
43. A 43, A 43. C 43. B
44, C 44, D 44, A 44, A
45, A 45. A 45, A 4s. A
46. A 46. B 46. C 46. A
47, c 47. A 47. A a7. C
48, A 48. c 48, A 48. A
49, A 49, A 49. A 49, A
50. A 50. A 50. A 50. A
51. A 51. C S1. A 51. A
52. A 52, A 52, c 52, C
53. A 53. A 53. A 53. A
54. A 54. A 54, D 54, D
55, A 55. A 55. A 55. A
56. A 56. A 56. D 56. A
57. C 57. C 57. A 57. B
58, A 58. A 8. B 58. A
59. D 59. D 59. A 59, C
60. B 60. B 60. B 60. A
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